
Correction	–	questions	–	sciences-	ce2	-19-06	
	
	

1)		
	
a)	Il	y	a	600	muscles	dans	notre	corps.	
b)	Il	y	a	3	sortes	de	muscles	:	les	muscles	squelettiques,	les	muscles	viscéraux	et	le	
muscle	cardiaque.		
c)	Les	muscles	sont	constitués	de	fibres.	
d)	Les	muscles	fonctionnent	par	paire	:	un	muscle	agit	sur	un	os	dans	une	direction	et	
l’autre	muscle	agit	dans	l’autre	direction	pour	ramener	l’os	dans	sa	position	initiale.		
	
2)	
	
a)	Faux,	le	message	passe	par	dans	un	nerf.	
b)	Vrai	
c)	Faux,	on	se	sert	aussi	des	muscles	du	ventre	et	du	dos.	
d)	Vrai	
	
3)	
	

	
	
4)		
	
Le	cerveau	envoie	un	message	au	nerf.	Ce	message	ordonne	aux	muscles	de	se	
contracter.	Alors	le	muscle	se	contracte.	Cela	tire	sur	l’os,	ce	qui	fait	bouger	le	squelette.	


